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5.55 Determine the magnitude of the horizontal component of the
anchoring force required to hold in place the sluice gate shown in
Fig. 5.55. Compare this result with the size of the horizontal com-
ponent of the anchoring force required to hold in place the sluice
gate when it is closed and the depth of water upstream is 10 ft.

BEFIGURE PB.55

This analysis is similar fo the one of Example 515 The
control velumes of Fig. € 5/5 are appropriate for usze

in Sdfwhj this problem . When the sluice ?4)% /s closed
(see Figs. €5.15a and € 5./5¢) application of the X
diréction campmam‘ of The /inear rIgmenTiem &gudﬁan
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When +he sluice gale /5 open (see Figs. £ 5./56 and E5.15d)
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Thus it fakes Considerably less foce fo hold 1 place The

sluice gate when it is opened as compared o when i1 /s ched.
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